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(1) w=az,w = a(z +iy)* = a(z? + 4izdy — 622y — dizy® + )
¢ = a(z* — 62%y* + y*), v = a(4x3y — day®)
(2) w = az’,w = a(z + iy)* = a(z? — y* + 2ixy)
¢ = a(@® —y?),9 = 2azy
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(1) w=-3ilnz+2z, (2)w=>5z+Inz
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(1) Parallel flow(U=2)+Circulation flow(I" = 67)
w = —3iln(re’?) 4+ 2re® = —3ilnr 4 30 + 2r(cos § + isinb)
w0 =30+2rcosf, 1p=2rsinf—3lnr
(2) Parallel flow(U=5)+source flow(Q = 2m)
w = 5re? +In(re'®) = 5r(cosh + isind) + Inr + i0
@w=>5rcosf+Inr, ¢ =>5rsind+40
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w = 5(z +iy)exp(ia) = 5(x + iy)(cosa + isina)

¢ = 5(xzcosa — ysina), 1 = 5(ycosa — xsina), a=m7/3
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(1) divV=1-1=0
(2) u:%§=x+% wzxy+%f+f@)
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divV =0, ¢ =uzy—2y°+ 2

dv  Ou
T T 4 (4) =

=9 oy (=4)=0
22y

T

MEV BEITDWT (1) A (0,0) 12

6.(20)z = £a IZB AW NAE THREDFELWT QDD S
RIT2HEEZRD L, (2) FL_ODOMWICL2FEFBES LFZDME Z2RD X,

(f%)
I I
w = Z—ﬂ_ln(z —a)— ;—ﬂ_ln(z +a)
dw I 1 I 1 it il 2a?
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Fo=—pUQ, F,=0
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)2dz = %2Um(2m’) = 2mpUm = —pUQ

9.(20) ZRILDOMIENT, ZDHERID v, =0, vg =wr 2D L ETDWMEEKD K.
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X —r, p= w4 1(6)
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Parallel flow+Source+Sink flow,
w = 4iz + y[m(z + 3+ 4i) — Inz]
T

(3 + 4i)

4
w=4iz + 5—ln[l — ]
T

dw = iUz + min(z + az) — min(z — ay)



